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δ(ω1, ω2) = max{|ω1 + ω2|, |ω1 − ω2|}.

=! 2&# Ω = Zω1 + Zω2 &#- 3#**&$ #- C 7#* τ := ω1/ω2 ∈ C \ R , |τ | ≥ 1> |Re τ | ≤ 1
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′
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C! 2&# Ω &#- 3#**&$ #- C (-% C ∈ R0 4/-- )#D* &8 &#-& B/8#8 ω1, ω2 +,- Ω 7#* δ(ω1, ω2) > C0
9! 2&#&- a, b ∈ R D&#%& E,8#*#+0 F@$ ρ > 0 8&#

e(ρ) := ♯
{

(x, y) ∈ Z× Z ;
(

x
a

)2
+

(

y
b

)2 ≤ ρ
}
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|e(ρ)− abπρ2| ≤ cρ ?@$ /<<& ρ ≥ 10

;K! J#- /-%&$&$ B&"&#8 %&8 L,-+&$)&-'MN&77/8 9 +&$<O(?* "#& ?,<)*P
:#! J8 )&-@)*> %/8 3#**&$ Ω = Zi + Z '( D&*$/
6*&-0
:##! 2&# α > 10 4/-- )#D* &8 0 < c′ < c> 8, %/88 ?@$ /<<& 0 6= m ∈ Z )#<*P

c′ · |m|1−α ≤
∑

n∈Z

(m2 + n2)−α/2 ≤ c · |m|1−α.
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∑

06=ω∈Ω

|ω|−α =
∑

06=g∈Z
2

(gtSg)−α/2 , S =

(

|ω1|2 Re (ω1ω2)
Re (ω1ω2) |ω2|2

)
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f(z) =
∑

n≥m

an(z − c)n , am 6= 0, m ∈ Z,
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f(z) = f(z − ω) =
∑

n≥m

an(z − [c + ω])n
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rescf = 0.9DC
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± 2πi
∑

c∈P

rescf =

u+ω1
∫

u

f(z) dz +

u+ω1+ω2
∫

u+ω1

f(z) dz +

u+ω2
∫

u+ω1+ω2

f(z) dz +

u
∫

u+ω2

f(z) dz

=

u+ω1
∫

u

(f(z)− f(z + ω2))dz +

u
∫

u+ω2

(f(z)− f(z + ω1))dz .
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∑

c∈P

ordc(f − w) = 0,9 C
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g(z) :=
f ′(z)

f(z)− w
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2πi
∑

c∈P

(ordc f) · c =

∫

∂P

z · f
′(z)

f(z)
dz

= ±
(

u+ω1
∫

u

z
f ′(z)

f(z)
− (z + ω2)

f ′(z + ω2)

f(z + ω2)
dz +

u
∫

u+ω2

z
f ′(z)

f(z)
− (z + ω1)

f ′(z + ω1)

f(z + ω1)
dz

)

= ±
(

ω1

u+ω2
∫

u

f ′(z)

f(z)
dz − ω2

u+ω1
∫

u

f ′(z)

f(z)
dz

)

.

:)7)' f(u) = f(u + ωj) 7,9+

u+ωj
∫

u

f ′(z)

f(z)
dz ∈ 2πiZ 4;8 j = 1, 2,
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